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ACCOUNTANCY - II
Paper - II (English & Telugu Versions)

MODEL QUESTION PAPER
(For the Academic Year 2021-22 only)

Time : 3 Hours Max. Marks : 50

SECTION - A 10×2=20

Note: (i) Answer ANY TEN questions. (ii) Each question carries TWO marks.

 (i) (ii)  
1. Define depreciation.



2. What are the causes of depreciation?



3. What is Capital Expenditure ?



4. What are Capital  and Revenue ?



5. Ram, Laxman were partners sharing Profits & Loss in the ratio of

3:2: They admit Bharath giving him 1/5th  share in the future profits.

Calculate the new profit sharing ratio.

           



6. What is Revenue Expenditure ?



7. P and Q were partners sharing profits & losses in 5:3 ratio. R got

admitted by purchasing 2/8 share from P and 1/8 share from Q.

Find the profit sharing ratio of all the partners.
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PQRP
Q 


8. What is retirement of a partner?


9. What is gaining ratio?



10. What is down payment/initial payment?


11. What is issue of shares at premium?



12. What is Equity shares?



13. What is preliminary expenses?



14. What is Divident?



15. What is Balance Sheet ?


SECTION - B 5 × 6 = 30

Note: (i) Answer ANY FIVE questions. (ii) Each question carries SIX marks.

 (i) (ii) 
16. Furniture is purchased for `35,000/-. It is decided to depreciate

the asset on straight line method at 10% per annum. Show furniture

account for 5 years.




17. A firm purchased a machine for `1,00,000 on 1.4.2016. Show the

machinery account for 4 years  charging depreciation on Fixed

Installment Method @ 15% p.a.
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



18. Discuss the difference between receipts and payments account and

income and expenditure account.



19. From the following particulars prepare a Receipts and Payments

account.

Rs.()

Cash in hand 1,000

Cash at Bank 5,000

Subscription received 33,000

Donations received 2,600

Investments purchased 10,000

Rent Paid 4,000

General expenses 2,000

Postage & Stationary 700

Sundry expenses 300

Cash balance at close 200




 
 
 
 
 
 
 
 
 
 

P.T.O.
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20. A and B are carrying on business in a partnership, sharing profit &
Losses in the ratio of  2:3. There Balance sheet as at 31-3-2019 was as
under.

Balance Sheet

       Liabilities Amount (`)        Assets Amount (`)

Sundry Creditors 50,000 Cash in hand 30,000

Capital Accounts : Cash at Bank 20,000

A 2,80,000 Sundry Debtors 1,00,000

B 4,20,000 7,00,000 Stock 2,00,000

Furniture 50,000

Buildings 3,50,000

7,50,000 7,50,000

On that date they  admit ‘ C ’ on to partnership and given him 1/4th

share in the future profit  on the following terms.

(a) ‘C ’ is to bring in 3,00,000 as his Capital and 1,00,000 as  good will,

which sum is to remain in the business.

(b) Stock and  Furniture are to be reduced in value by 10%

(c) Buildings are to be appreciated by 50,000

(d) A provision of 5% to be created on sundry  Debtors for doubtful debts.

Write journal Entries to recorded the above arrangement and show the

opening Balance Sheet of the new firm.

   A  B    




   

   
 

   
A  
B   

 

 



5

 ¼C


 C        


 

 

 



21. Ram, Seetha, Geetha are sharing profits and losses in the ratio of

5:3:2 on 31st December, 2019. The balance sheet was as follows.

On 1st January, 2020 Geeta retired on the following terms

1. Value of buildings to be appreciated by 10%

2. Bad  debts reserve to be increased to  1,200

3. Goodwill is to be created 40,000

4. Amount due to Geeta is to be transferred to 8% loan account in
her name.

Prepare Revaluation account, Capital account and Balance sheet
after Geeta’s retirement.

   Amount

      Rs.()

21,000

10,000

20,000

1,70,000

2,21,000

        Liabilities

Sundry Creditors

Bills payable

General Reserve

Capital Accounts

        A    80,000

        B    60,000

        C   30,000

            Assets

Cash

Debtors    31,000

(-) Res. for b.debt    500

Stock

Machinery

Building

Amount

   Rs.()

50,500

30,500

20,000

40,000

80,000

2,21,000

P.T.O.
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


   

   
  
   
  
  
  
 

 


 
 
 
 



22. Give journal entries to be passed in the books of purchaser and
vendor under hire purchase system.



23. Mounika Ltd  company issued 5000 shares of  Rs. 100 each. The
shares were payable as under

(1) On Application Rs. 20
(2) On  Alletment Rs. 30
(3) On First call Rs. 25
(4) On Final call Rs. 25
Write  journal  entries  in the  books of  company.


  
  
  
  

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24. The following Trial Balance of Wipro Ltd was extracted from their

books on 31st December 2019

Rs. () Rs. ()

Purchases 3,04,000 Share Capital 1,44,000

Plant and Machinery 28,800 Returns outwards 14,400

Stock in trade on1-1-2019 25,600 Sales 4,11,200

Salaries 14,400 Discount 4,480

Carriage outwards 2,000 P & L A/c 25,000

Carriage inwards 8,000 (Credit balance)

Discount allowed 5,600

Return inwards 12,800

Insurance 4,000

Dividends 20000

Interim dividends 22,400

Rates & Taxes 6,400

You are required to prepare the Trading and P & L appropriation

account for the year ended 31-12-2019, in doing so take the following

adjustments into account.

(a) Plant and machinery is to be depreciated  by 10 percent

(b) Stock in trade on 31st Dec 2019 is  28,800.

P.T.O.
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           


 

   

   

   

   

   

 

 

 

 

 

 

 




 

 
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25. The Mahesh manufacturing company ltd. was registered with a

nominal capital of  6,00,000 in equity shares of   10 each. The

following is the list of balances extracted from its books on 31st

December 2019.

Subcribed and fully called-up capital 4,00,000

Calls in Arrears 7,500

Premises 3,00,000

Plant and Machinery 3,30,000

Fixtures and Fittings 7,200

Sundry Debtors 87,000

Goodwill 25,000

Cash in Hand 750

Cash at Bank 39,900

6 % debentures 3,00,000

Bills payable 38,000

Sundry Creditors 50,000

General Reserves 77,450

Investment 20,000

P&L Appropriation A/c (Credit Balance) 37,500

Prepare a balance sheet

1. Stock on 31st December 2019  95,000

P.T.O.
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



 

 

 

 

 

  

 

 

 

 

 

 

 

 

 



__________


